EXEFTIBFT AR (H26.2)

[B{EFRT HERT

F4 HhE F4 e
AEFHET (15 £E=TH 8&ith5
EEFHRT (101 £E=TH 3&EM3
BEFHRT |17FH2 xXE=TH 14&H#7
BEFHRT |22%FH1 XE_-TH 14&EH#5
AREFHET |23%FH# xE—-TH 6%&ih24
MRFHRET |24%FH#2 XE—-TH 6%&1th26
BEFHRT |26FH4 xXE=TH 13& 8
MRFHET |26%FH6 XE—-TH 6%&ith19
AREFHRET |28%FH xE—-TH 6%ith28
FMIEFHET |45%H2 XE_-TH 13%&#h7
EEFHWET |57&EM XE=TH 6%&Mh3
BEFHRET |70%M1 XE_-TH 1182
AEFHET |130%FH1 XE-TH 12% 7
BRFHET [136%FiM1 FTa1—ILNE XE=-TH 1631 FTa1—ILNE
BEFHET |136%FiH1 FTa—IL0E X(E-TH 1631 FTa—ILOE
BEFHRET 1515 XE—-TH 77
BEFHET |173%FH2 XE=TH 10%& 2
BEFHRT |196FH3 XE_-TH 1&H#hO
BEFHMNE |4F M XE=TH 13%#h2
FEFH/ME | 1552 XE=TH 13%FH#2
BEFH/ME |54F M EXE=TH 14%&H#19
BEFH/ME |62%FH# EXE=TH 19%#12
REFH/IME |137F 1 XE=TH 18%th4
FEFH/ME | 156%FM1 XE=TH 1&H#4
BEFH/NME |161FH1 XE=TH 113
BIEFH/PMR | 162FM5 XE=TH 18&#10
BEFH/ME |210FH1 XE=TH 5&#20
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